1st Nine Weeks review

1.  Surtsey is an island located south of Iceland.  The Island was formed by a volcanic eruption and first appeared in 1963.  The table below contains descriptions of changes in the population and diversity of species on Surtsey.
[image: https://lh6.googleusercontent.com/UQQGB_8uaoABdmtHbWdLoEgFkL9XkjcnkkDaDnh19Z6p9spDDpU95q7_CZxJKL2_qdHHj7Q3X9_UbH_AZ8JgDeD78CfI9HpBq1gJaOwGscVYYdHKnqGpg6PyIXjeLoinxdIAEYYK]
Lists the descriptions in the correct order of ecological succession on Surtsey.

2. Ions form when ___________________________________


3. A chemical reaction is a process by which atoms or groups of atoms in substance are _____________


4.  In any environment or ecosystem, organisms can have several different types of relationships.  Three of the relationships are described below.
[image: https://lh3.googleusercontent.com/FC8aSLfysx7oXKa2ChTrOMXrpBwtT8eAptkWM8dD92j6ze4L8xSKykppwES7SRqTPNPBbxhOQQ33XSXkcf4n40r4KWXmuBdPvrQXzD-KRZQ6b02zPsrWpQKQ6t4Zv46n32BQ-Nek]
Correctly describes the relationships between the organisms

5. The acacia ant (Pseudomyrmex ferruginea) lives in the bullshorn acacia plant, as shown below.
[image: https://lh4.googleusercontent.com/aWCOdU_vHHAbWGZlxzyMm4QHgHzoupK6j9DVy65u-Nhwr7ZqEfcMDvlW9p8QSkJgBMwUGIF3vFdKbjn0i1PLkrY-43R-Lsb7smM3ZD_2CSJimF5NtzQLv0qhNC_HpnaZBDFBV5nY]The acacia ant nests and feeds in the plant’s hollow thorns.  The ant helps protect the bullshorn acacia by attacking insects and grazing animals that come near the plant.  The relationship between the acacia ant and the bullshorn acacia is an example of which of what symbiotic relationship?


6. A Marine ecosystem is represented below
[image: https://lh4.googleusercontent.com/wll_CeBFWnMuNY9TYnOcpNRjTgto5K5kFvIkbfKNT-N9c_Q5wI17U4nYSVxr-c2zNn5z7XUuZWvaKWFX14fmXKDN7gn5Q1QSvwh8cVkYHlHSHV3X-G4pYQQix-2FZY0tqiWBXQPh]
What is lost to the environment at each of the trophic levels in this ecosystem


7. Which is a covalent bond?
 
8. Elements are placed into the same period on the periodic table of the elements because they _______________________________________________

9. Which macromolecule is involved in nearly every function in the human body?


10. Which macromolecule stores energy for an animal? _____________________________

11. Which of the following diagrams represents an amino acid.
[image: https://lh4.googleusercontent.com/YK7yz4CYuAppbb-JNpBrpMMmr4H9VwRmNPGH0HOv2Wi0liqWGnuWfAOuECr69smV43kK9imh9hJVvJ8OpUrAtR3Hx-yUP4N-w9wE3j7X4Sj4X55K0HEeRgdXJ3N7BwAPSoCXFwCy]


12.  Pepsin and trypsin are two of the digestive enzymes that break down protein. A group of students studied the pH requirements of these enzymes. The graph below shows the results.
[image: https://lh3.googleusercontent.com/jUmUEXXlQZnhCcwxkwXxlHq_juatpbGwITb8PopIsl0dyyZ6DWfxUyoAtacg2OcLXMu-TYJDRwh7GO7y-SBWAcM8COSIvtvpMX6GyxWse2R06-tfdAfwSrJ-95UdykclCCA8dCk1]
The students found that pepsin functions best in an acid environment and trypsin functions best in a neutral environment. Based on their observations, pepsin most likely aids in digestion in which part of the human body?

13.  Lactose is found in milk products. It is converted by the body into a usable form in a series of chemical reactions. The diagram shows the series of reactions that convert lactose into a usable form.
[image: https://lh3.googleusercontent.com/cKG3qHyeR0LSfZYNprMrxcKq2jhLQc5-282j9GFM_C9Ts2fosLd03m_RRl1pmQ2OK0SvSMtQedBJWXOpa2RHOBEHfAoKBQewXv8Rj-QHJvEYFd1XJ92o5rUiF9wjVB85kF0l5aw6]
If all the enzymes work properly, but lactose is not ingested by the organism, what would be the outcome?

14.  Which of the following biomolecules contains carbon, hydrogen, and oxygen in a 1:2:1 ratio, respectively?

15. As ecosystems move through the stages of succession, the populations of organisms in them change. Which stage of succession likely to have the most species diversity?


16. What are the 3 principals of the Cell Theory?


17. A ________________________ contains polar and nonpolar ends, forming the plasma membrane.

18. Vesicles that digest worn-out organelles or food particles are called _______________________.

19. Which group of organelles is directly responsible for the production of new molecules within a cell?


20. The diagrams show the flow of organic molecules through an ecosystem.  One process that occurs in this ecosystem is labeled X, and another process that occurs is labeled Y.
[image: https://lh6.googleusercontent.com/XKtFj2slakI7FzPy6XF7kBW0lNNYEZ-cMI1wQW0-nmrkKnvyEwTyNcxb3LmLn6RnYcqR_pVcKB_YbCm1A3RW1MfnrbOtjjwLN5EVnmTxKHJNUvPVJP1UlihGneM5EXVmhSHMRWkG]
What are the two processes are identified by the labels X and Y?


21. Enzymes are proteins that help increase the rate of chemical reactions inside cells.  These proteins are composed of many simpler molecules called amino acids.  What suggests that the shape of an enzyme determines the enzyme’s function?

22. Some students used information they gathered from lab investigations to prepare a table. They entered the table in their lab notebooks.
[bookmark: _GoBack][image: https://lh6.googleusercontent.com/NOzu7KM_0_RO16KS-or_0_mJodp5zpln3VLNx6fw9IflA0wgoy92GttvgprtNLxuOj7WH6Jib000j9an_xVysgSGk3BYH_LEI3ZIEqMUjRMDeyqgb0tgzkrt4oogj3qrAtoa0uRS]
Identify the two cells described in the table.


23. The food web shows the flow of energy through a sagebrush-steppe ecosystem.
[image: https://lh4.googleusercontent.com/w0eAoFTtvS7cf_RUxXnUvuQYlMW9yUkTolbVMmUoN9bNo6Xjw6IC42Y6pxbz5gL9UYauQNiKWzkakhiY0DVr4e6d3gb9y5H_to6Guwi4KNaWOZFOziZy4YjMPhp8-mByPehaa7m0]
Which of these organisms are in a trophic level that receives a larger percentage of energy captured by the producers than the percentage received at the bats’ trophic level?


24. Which process of energy conversion takes place in the mitochondria?


25. Which cellular process takes place in the ribosomes that are bound to the endoplasmic reticulum?
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